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(Structure d’'un algorithme )éuwo u;lgzll duwlwVl auJlT

algorithme nom_algo (i sidl g paill b g 33l aady)
vdar.
type_variable nom_variable
exemple
String NomM (<o Aalu & 65 e xiar 7o paills Cudd)
INfa (a=15) m~a
float b(b=15.75) s
char c (c="7")
boolean d (d=true; d=false - d=1,d=0)
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(Structure d’'un algorithme )éuwo u;lgzll duwlwVl auJlT

INPp U (cilibhadl 501 5
nom = "Abi";
jour = 31 ( Uad- Cajma e il e slinl (Say V)
b="hello" (Lwiall ae & s Ludh (1o Crnd dad i) (Say )

d="false" | Jaziw ¥ Uad™" ihic & & (pe il piall )
nom="tfrue false 1."

Traitement
h=pb*100-a+150

output(ziul ekl

ECRIRE(h)
FIN
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Lo il V'

A ,z ,nom , nom_etudiant , my_var , numeroProduit

A10 , $nom

Etudiant , 10a , franCais , nom client , 100
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ALGORITHME CALCUL
var
float N1
float N2
float n3
float somme
float moyenne
// input
n1=150.75
n2=300
n3=600.10

// traitement
somme=n1+n2+n3
moyenne=somme/3

// output
ECRIRE(somme)
ECRIRE(moyenne)

FIN
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algorithme produit

var

string nom_produit

floatpu

int qt

float montant
// input

ecrire("Enter le nom du produit svp")
lire(nom_produit)

ecrire("Entrer le prix unitaire svp")
lire(pu)

ecrire("Entrer la quantité du produit”)

lire(qt)

// Traitement

montant=pu*qt

// Output

FIN

ecrire("Le montant du produit =")

ecrire(montant)



